lpynna «A»

[komanna
[asnpom
TpaHcras
EkatepuHby
pr

[asnpom
TpaHcras
CaHKT-
MeTepbypr
[asnpom
nobblua
YpeHron

2—10

0—14

10—2

14—0

3B

H

pynna «b»

LWAMBbI

24 —2

11 —10

0—23

[komaHga

[asnpom
TpaHcras
Cypryt

[asnpom
TpaHcras
Tomck

[asnpom
TpaHcras
CapaTtoB

3B

H

pynna «B»

LWAMBbI

4—6

[komanna

[asnpom
TpaHcras
HOropck
[asnpom
TpaHcras
arikoBcKuii
[asnpom
TpaHcras
YxTa

0—24

40—0

24—0

3B

pynna «M»

H

LWAMBbI

46 —3

27—6

0—64

[komaHga

[asnpom
nobblua
OpeHbypr

[asnpom
TpaHcras
|Mocksa

[asnpom
nobblua
Hangbim
HOxHO-
Ypanbckoe
ynpaBneHue
OXpaHbl

35—0

36—0

39—0

0—39

4B

LWAMBbI

39 —7

47 —3

0—110

42 —8
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